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4TO Mbl ceroaoHs«
oyaoemM msyyaTtb?

dDopMyIibl COKpPaALLEHHOro YMHOYXXeHUS
 OCHOBHbIe TeopeTundyeckme ceegeHud

 [lpocTenLune 3apgaHuUa Ha NPUMEeHeHue
dopMyn CoOKpaLLEeHHOro YMHOXeHuUS



dopMyrnbl COKpaLLEeHHOro
YMHOXeHus

(a+ b)?= a% + 2ab + b* — KBagpaT CyMMbl

(a — b)*= a® — 2ab + b? - KBagpaT pa3HOCTU

a’ —b?’=(a—Db) (a+b)- pa3HocTb KBaapaTOB
(a+ b)3= a3 + 3a’b + 3ab? + b>- Ky6 cyMMbil

(a — b)3= a®> — 3a®b + 3ab? — b3- Ky6 pa3HocTH

a> —b3 = (a—b) - (a’ + ab + b?) — pazHocTb Ky60B
a3 + b3 = (a+b) - (a? — ab + b?) - cymMMa Ky60B



A2 2
(x—=y) - (x+y)=x"—y
49x?% — 9y? = (7x)? — (3y)? = (7x = 3y) - (7x + 3y)

(x+3)?—16=(x+3)*—4*=(x+3-4)-(x+3+4)

=x-1)-(x+7)

(x5 — 3)(x5 + 3) = (x*)*=3?=x1Y -9



(x + y)?= x? + 2xy + y?

(5 + 3x)*°=5%+2-5-3x + (3x)*= 25 + 30x +9x?
x% + 4xy + 4y = x? + (2y)?+2 - x - 2y = (x + 2y)?

2x% +4x+2=2(x*+2x+ 1) = 2(x + 1)*



(x —y)*=x= — 2xy + y-

4x® —4x +1=(2x)*—2-2x-1+ 1% = (2x — 1)?

? 2ab + 222 = (3 )2 2b+(4b)2
e ~2ab+ g 1 WT\3

_(3 )2 5 3 4b+(4b)2—(3 4b)
AV 2437 7\37%) T\3“
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(x —y)3=x3 — 3x%y + 3xy? — y3

(4x — 3y)3= (4x)3—3 - (4x)? -3y + 3 -4x - (3y)?> — (3y)3

= 64x3 — 144x% -y + 108x - y? — 27y3



(Ba+2)(9a* —6a + 4) = 3a)3+(2)3=27a° + 8
8x3 +27y3 = (2x)3+(3y)3

= (2x + 3y) (4x2 —6xy+ 9y2)
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(x—=)(E*+xy+y?)=x°—y

R-y)4+2y+y)=Q—-y)(2%+2y+y?)=23—y3
=8—y3

56x3 —7y3 =7(8x3—y3) =7 ((2x)3 - 3’3)

=702x —y) ((Zx)2 + 2x -y + yz)

=7(2x — y)(4x2 + 2xy + yz)



A eciv popmysia 3abbiTa’?

(x = 2)°= (x — 2)(x — 2)(x — 2)
=(x2=2x—2x+4)(x - 2)

= (x? —4x +4)(x — 2)

=x3 —4x* 4+ 4x — 2x*+8x—8

= x3 —6x%+12x — 8



